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Način označavanja odgovora na listu za odgovore:

Paraf (skraćeni potpis)Prepisan točan odgovor

IK
Način ispravljanja pogrešaka na listu za odgovore:
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OPĆE UPUTE

Pozorno pročitajte sve upute i slijedite ih.
Ne okrećite stranicu i ne rješavajte zadatke dok to ne odobri voditelj  
ispitne prostorije.
Nalijepite identifikacijske naljepnice na sve ispitne materijale koje ste dobili  
u sigurnosnoj vrećici.
Ispit slušanja traje 35 minuta.

Ispit se sastoji od zadataka povezivanja i zadataka višestrukoga izbora.
• �U zadatcima povezivanja svaki sadržaj označen brojem povežite  

samo s jednim odgovarajućim sadržajem koji je označen slovom  
(zadatci 1 i 3).

• �U zadatcima višestrukoga izbora od više ponuđenih odgovora odaberite 
samo jedan (zadatci 2 i 4).

Pri rješavanju ovih zadataka možete pisati po stranicama ove ispitne 
knjižice. Odgovore morate označiti znakom X na listu za odgovore.  
Svaki točan odgovor donosi jedan bod.1

Na 2. stranici ove ispitne knjižice prikazan je način označavanja odgovora i 
način ispravljanja pogrešaka.  
Pri ispravljanju pogrešaka potrebno je staviti paraf (isključivo skraćeni 
potpis, a ne puno ime i prezime).
Upotrebljavajte isključivo kemijsku olovku kojom se piše plavom ili crnom 
bojom.

Želimo Vam mnogo uspjeha!

1	 Bodovi u svakoj od triju ispitnih cjelina imaju određeni udio  
u konačnome rezultatu.

Ova ispitna knjižica ima 12 stranica, od toga 2 prazne.



Task 1
Questions 1-5

You will hear five people talking about the environment.
Match each speaker (1-5) with one option (A-H). 
There are three options that you do not need. 
You will hear the recording twice.

What does each person think about the environment?

A	 Carbon energy is here to stay.

B	 Technology can provide the solution.

C	 People must change their lives.

D	 There has to be a switch to non-carbon energy.

E	 The climate situation is bad news.

F	 The changes we need will take a long time.

G	 There’s nothing to worry about.

H	 Vegetarianism could save the planet.
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Task 2
Questions 6-13

You will hear people talking in eight situations.
For each question (6-13), choose the correct answer (A, B or C).
You will hear each recording twice.

6	 You will hear a girl talking about her best friend Mandy.  
What does she say about her?

A 	 She’s fun.
B 	 She’s loyal.
C	 She’s different.

7	 You will hear a man talking about a job ad.  
Why does he want to apply?

A 	 He is qualified for it.
B 	 The salary is good.
C	 It wouldn’t be stressful.

8 	 You hear a man talking about winning the lottery.  
What would he do with the money if he won it?

A	 Save it.
B 	 Spend it.
C 	 Invest it.
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9 	 You hear a girl talking about adolescence.  
How does she feel about being a teenager?

A 	 Frustrated.
B 	 Indifferent.
C 	 Satisfied.

10 	You hear two people talking. 
What is the main topic of their conversation?

A	 Nutrition.
B 	 Exercise.
C 	 Health.

11 	You hear a student talking about his new computer. 
What does he need it for?

A 	 Entertainment.
B 	 School.
C 	 Work.

12	 You hear a woman talking about a piece of furniture she bought. 
What does she say about it?

A 	 It’s expensive.
B 	 It’s damaged.
C 	 It’s too big.
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13 	You hear a man apologizing to his boss. 
Why didn’t he write the report?

A 	 He forgot about it.
B 	 He didn’t know how to do it.
C 	 He felt it wasn’t his job.

7/12

Engleski jezik

ENG A IK-2 D-S057 T

Listening Paper



Task 3
Questions 14-19

You will hear two friends talking about three companies  
as possible employers.
For each question (14-19), choose the correct answer (A, B or C)  
from the list of companies.

Mark �A for AdvertPro 
B for BrandMaster

or	 C for CloudTech

You will hear the recording twice.

Which company...

14 	has flexible working hours?

15 	 is an international company?

16 	 is active in the community?

17	 pays its employees all travel expenses?

18 	has a strict dress code?

19 	requires no previous work experience?
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Task 4
Questions 20-25

You will hear a radio interview with Shelly Bisque, a professional chef.
For each question (20-25), choose the correct answer (A, B or C).
You will hear the recording twice.

20	 	When did Shelly discover she loved cooking?

A	 As a young girl.
B	 When she went to secondary school.
C	 When she left school.

21	 Why did Shelly leave her job at Gordon’s Restaurant?

A	 Because she became obsessive about work.
B	 Because she wanted to be more creative.
C	 Because she wanted to prepare exotic food for retailers.

22	 How did her boyfriend Finn react when Shelly decided to go to Japan?

A	 He was pleased for her.
B	 He decided to go with her.
C	 He sympathised with her motives.
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23	 What did Shelly do in Japan?

A	 She studied Asian cuisine.
B	 She worked in traditional restaurants.
C	 She ate a lot of noodles.

24	 Why did Shelly come back from Japan?

A	 To get married.
B	 To develop new food products.
C	 To work for Kost-Less.

25	 How did Shelly react to early success?

A	 She found the pressure too much.
B	 She started training other chefs.
C	 She started learning business skills.

You now have five minutes to copy your answers  
onto the answer sheet.
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